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https://web.nvd.nist.gov/view/vuln/search

Search Results (Refine Search) Search Results (Refine Search)

There ar atching records. There are atching records.
Search Parameters: Displaying matches 1 through 20.

* Keyword (text search) Search Parameters:

e Search Type: Search Al

Keyword (text search){java)
e Contains Software Flaws (CVE) * Keyword (text search)

e Search Type: Search All
e Contains Software Flaws (CVE)
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OS X Yosemite

kR4 10.10.3

MacBook Pro (Retina 2773, 13 %<, 2015 F£41#A)
43828 2.7 GHz Intel Core i5
A% 8 GB 1867 MHz DDR3

/workspace > go/sre g1 thub.com/ _: acl ictor -version
java version "1.7.0_75"
Java(TM) SE Runtime Environment (build 1.7.0_75-b13)
Java HotSpot(TM) 64-Bit Server VM (build 24.75-b04, mixed mode)
/workspace_go/src/github.com/jackyvictory version
go version gol.7.5 darwin/amd64
R e ,

/WOrkKspace qo/src/qgithub.com/ ]ACKYV 1 (¢ [ory l
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~/workspace_go/src/github.com/jackyvictory/http } ab -n 10000 -c 10 http://localhost:5678/ func main() {
runtime.GOMAXPROCS ( runtime.NumCPU())

Concurrency Level: 10
Time taken for tests: 0.815 seconds :ttp'['?"dleli"g;' ht:f’_‘g;;::(”_u
Complete requests: 10000 y ttp.ListenAndserve(™: »
Failed requests: 0
Total transferred: 1270000 bytes func httpRouter() (mux xhttp.ServeMux) {
: mux = http.NewServeMux()
Requests per second 12275.32 [#/sec] (mean) mux.HandleFunc("/", myHandler)
ime per request: 0.815 [ms] (mean) FEEL
ime per request: 0.081 [ms] (mean, across all concurrent requests) ¥
ransfer rate: 1522.43 LKbytes/secl received func myHandler(w http.ResponseWriter, r xhttp.Request) {
retStr := "hello http"
retBytes := [lbyte(retStr)
w.Write(retBytes)
}

~/workspace_go/src/github.com/jackyvictory/http } ab -n 10000 -c 10 http://localhost:8765/

Concurrency Level: 10 publi::‘yszatlc void main(String[] args) {
Time taken for tests: 0.891 seconds HttpServer hs = HttpServer.create(new InetSocketAddress(8765), 0);
Complete requests: 10000 hs.createContext("/", new MyHandler());
Failed requests: 0 int threadMinCount = 100;
Total transferred: 1050000 bytes int threadMaxCount = 200;
HTML_transferred: 100000 h;IIES int checkPeriod = 2;
Requests per second: 11229.20 [#/sec] (mean) ThreadPoolExecutor threz?\dPool = new ThreadPoolExecutor( . . .
Time per request: 0.891 [ms] (mean) threadMinCount, threadMaxCount, checkPeriod, TimeUnit.SECONDS,
: * ' new ArrayBlockingQueue(100),

Time per request: 0.089 [ms] (mean, across all conct new ThreadPoolExecutor.CallerRunsPolicy());
Transter race: TI5T. 437 TRKbytes/SecC] received hs.setExecutor(threadPool);

hs.start();

} catch (IOException e) {
e.printStackTrace();
Goph
}




~/workspace_go/src/github.com/jackyvictory/rsa } /usr/bin/time -1p ./rsa func main() {

real 2.78
user 8.56
Sys 0.11
"~ 20070400 maximum resident set size
@ average shared memory size
@ average unshared data size
@ average unshared stack size
4940 page reclaims
1 page faults
@ swaps
® block input operations
® block output operations
0 messages sent
0 messages received
0® signals received
5922 voluntary context switches
10119 involuntary context switches
~/wockspace go/src/github.com/jackyvictory/rsa p /usr/bin/time -1p java Rsa
real 7.74
user 29.29
sys 0.83
~179183616 maximum resident set size
@ average shared memory size
@ average unshared data size
0@ average unshared stack size
49611 page reclaims
0 page faults
0 swaps
® block input operations
7 block output operations
13 messages sent
12 messages received
190 signals received
7 voluntary context switches
37059 involuntary context switches

runtime.GOMAXPROCS ( runtime.NumCPU())
var count = 1000
var wg sync.WaitGroup
for i 1= 0; i < count; i++ {
wg.Add(1)
go func() {
defer wg.Done()
cipherBytes, err := rsa.EncryptPKCS1v15(rand.Reader, pub, [lbyte(clearMsg)
if err != nil {
panic(err)
}
_, err = rsa.DecryptPKCS1vl5(rand.Reader, priv, cipherBytes)
if err != nil {
panic(err)
}
0
}
wg.Wait()
}
public static bytel[]l RSAEncrypt(PublicKey pub, bytell clearText) {
try {
Cipher cipher = Cipher.getInstance(CIPHER_ALGORITHM) ;
cipher.init(Cipher.ENCRYPT_MODE, pub);
return cipher.doFinal(clearText);
} catch(Exception e) {
e.printStackTrace();

}

return null;

}

public static bytel[l RSADecrypt(PrivateKey priv, bytell cipherText) {
try {
Cipher cipher = Cipher.getInstance(CIPHER_ALGORITHM) ;
cipher.init(Cipher.DECRYPT_MODE, priv);
return cipher.doFinal(cipherText);
} catch(Exception e) {
e.printStackTrace();
}
return null;

}
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func ListenScanPay(addr string) { func TcpRecoverWrap(handle func(ln net.Conn)) func(ln net.Conn) {

ln, err := net.Listen("tcp", addr) return func(ln net.Conn) {
if err = nil { defer func() {

o . . " if r := recover(); r != nil {
log.Errorf("fail to listen %s port: %s", addr, err) log.Errorf("TCP REQ PANIC: %s", toErr(r))
return ln.Write([]lbyte("server error, please retry."))

} }
log.Infof("ScanPay TCP is listening, addr=%s", addr) Ln.Close()
30
gO funC() { handle(ln)
}
for { }
conn, err := ln.Accept()
if err !'= nil {
log.Errorf("listener fail to accept: %s ", err)
return
}
go catch.TcpRecoverWrap(handleConnection) (conn)
}
()
}
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func handleConnection(conn net.Conn) {

var writeMsgQueue = make(chan string, queueSize)
defer close(writeMsgQueue)

go func() {

for {
select {

case writeMsg, ok := <-writeMsgQueue:
if lok {

}
+H0)

}

log.Debug("writeMsgArray closed")
return

err := write(conn, writeMsg)
if err '= nil {

¥

log.Errorf("write failed: %v", err)
continue

¥

var regBytes []byte
var err error
for {
reqBytes, err =
if err '= nil {
if err == errPing {
continue
}
log.Error(err)
return

read(conn)

go func() {
msg := ScanPayHandle(reqBytes)
writeMsgQueue <- msg
return
3()
}




func handleConnection(conn net.Conn) {

var writeMsgQueue = make(chan string, queueSize)

var tcpConnClosed = make(chan int, 1)
defer func() {

tcpConnClosed <- 1 {ummmm

0
go func() {
for {
select {
case <-tcpConnClosed : {mmm—
log.Debug("receive tcp close signal)
return
case writeMsg, ok := <-writeMsgQueue:
if lok {
log.Debug("writeMsgArray closed")
return
}
err := write(conn, writeMsg)
if err != nil {
log.Errorf("write failed: %v", err)
continue
}
}
}

Q)

for {
reqBytes, err := read(conn)
if err !'= nil {
if err == errPing {
continue
}
log.Error(err)
return

go func() {
msg := ScanPayHandle(reqBytes)
writeMsgQueue <— msg
return
(0)
}
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